	1. Transform the words in CAPITAL LETTERS to fill in the gaps (B3-B9) Mаrtha was fourteen and she still B3 ................................. to swim. Her cousins Fran and Oliver were good swimmers and she felt jealous of them. One hot Saturday they went to the beach. Fran and Oliver B4 ............................. and splashing about in the water while Martha was sitting on the sand watching them. "Come on in, the water's lovely!" laughed Fran. "You B5 ................................ in the sun too long". Martha knew they were making fun of her. She searched in her bag, found her swimsuit and went to change. As the water lapped her feet she thought. "I B6 .............................. them! The sea isn't very deep here. It's only just above my knees. If I start going to the bottom, I can just stand up". Bravely she pushed forward into the sea and started to make swimming movements. To her amazement, her body B7 ........................................... up by the mater. 'I B8 .............................................. !" she cried. She couldn't believe it was so simple. "That wasn't so hard, was it?" said Oliver coming over with Fran to congratulate her. "I never thought I'd find the courage to do it." replied Martha B9 ........................................... back at them. 
	NOT LEARN 
PLAY 
SIT 
SHOW 
HOLD 
SWIM 
SMILE 


	2. Transform the words in CAPITAL LETTERS to fill in the gaps (B10-B14) As а child I loved reading story books. It took you into another world; one of fantasy where there was no school or homework. I remember one particular book from my B10 ................................... very well. It was called The Wind in the Willows and the B11 .............................. were wonderful. The book was full of colour and the characters, which were all animals, were very B12 ...................................... towards each other. The characters were a water rat, a toad, a mole and a badger who all behaved just like humans. Mole, Badger and Ratty the water rat are very relaxed, lovable characters. Toad is very B13 .................... but often gets into trouble because he loves trying new hobbies. At one point Toad ends up losing his B14 .......................... but fortunately everything works out well in the end. 
	CHILD 

ILLUSTRATE 

FRIEND 

WEALTH 

POSSESS 


	3. Transform the words in CAPITAL LETTERS to fill in the gaps (B10-B14) The brown bear is one of the most popular animals in Russia. It is considered the B10 ................................. symbol and it was voted the mascot of the 1980 Olympics. This animal is a favourite character in fairy tales and cartoons and although the brown bear may seem fierce at times, it is actually а B11 ………………..……….. creature. This is the same species of bear that lives in the United States. The B12 ............................................. bear population it Russia is in Kamchatka and is 12,000 strong. Recently the bears have faced a number of B13 .................................. problems. One of these has been a drop in the number of salmon which the bears B14 .......................... eat. As it becomes harder for bears to forage in the wild, some are now approaching villages where they can find a possible source of food. 
	NATION 
PEACE
 LARGE 
ECOLOGY 
NORMAL 


С2 STUDENT CARD TASK 1 (1-2 MIN) Give a 1.5-2 minute talk on holidays. Remember to say: • how you would ideally spend your time on holiday • what kinds of holidays are popular in your country • what sort of problems you can have when on holiday You have to talk for 1.S-2 minutes. The examiner will listen until you have finished. Then she/he will ask you some questions. 
